
1.)	
  

What	
  is	
  the	
  speed	
  of	
  a	
  car	
  that	
  is	
  run	
  into	
  a	
  wall	
  if	
  the	
  bumper	
  acts	
  like	
  a	
  spring	
  
and	
  no	
  energy	
  is	
  lost	
  in	
  the	
  collision?	
  

Problem	
  15.17	
  

This	
  is	
  one	
  of	
  those	
  amazingly	
  unrealisAc	
  collision	
  problems	
  in	
  which	
  the	
  
energy	
  required	
  to	
  deform	
  the	
  bumper	
  and	
  heat	
  the	
  bumper	
  and	
  create	
  
sound	
  is	
  ignored.	
  	
  Having	
  whined	
  about	
  this	
  some,	
  we	
  proceed:	
  

If	
  energy	
  is	
  conserved	
  and	
  all	
  the	
  energy	
  ends	
  up	
  with	
  the	
  spring,	
  we	
  can	
  
write:	
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              = 2.23 m/s


